ICE 30


Here are some simple questions about regression trees. 

1. Consider three data sets shown below, compute their means and their variances. 

· D1 = {1, 3, 5}, mean:      variance: 

· D2 = {10, 30, 50}, mean:            variance: 

· D3 = {-1, 3, 7}, mean:              variance: 

	  f1  
	  f2  
	  y  

	1
	1
	15 

	1
	1
	16 

	1
	0
	5 

	1
	0
	4 

	0
	1
	10 

	0
	1
	9 

	0
	0
	0 

	0
	0
	1 


2. Consider the following data set: 

3. 
What are the average variances of the two possible splits? 
f1: 

f2: 

4. Which feature split is better?  

5. What are the means of the resulting leaves of the tree after the split?
0 branch: 


1 branch: 

Draw the tree on the back.












































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































